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:This paper contains FIFTY (50) multiple-choice/assertion/reasoning

questions/matching questions. Each question carries TWO (2) marks.

Attempt All the questions.

WL W i (Wo) eglaselly wsdl, W-vig wA ASs otudail wsdl

B, M Wl all auarl 9. uds s 4 () o 8.

Organisational development is

planned change plus :

(A} Evaluation

(B) Intervention

(C) Ability for staff renewal

(D} Reinforcement of human

resource

The system which divorces the

workers from the ownership of

means of production is called ........... .
(A) Capitalism

(B) Sccialism

(C) Mixed economy

(D) None of the above
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d-{la [Rsi 2 20Hied 53812 L

(A) Heuis
(B) ectaiu

(C) 2215 Adadl w3 saL e+l

NEN]
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Human Resource Development

System often includes the following :

(A) Personnel administration,
human resource development

and industrial relations

{B) Personnel administration,
human resource deployment

and potential appraisal

(C) Personnel engagement,

employee elections and

individual relations

(D) Human resource deployment
performance measurement and

institutional relations

The goal of corporate financial

management is attaining :

(A) Shareholders wealth
maximisation

(B) Maximisation of profit

(C) Minimisation of cost

(D) Maximisation of sale

Management—{I
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(A) frelesl Besad veaaHls

(Maximisation)
(B) =51 HenHlsa (Maximisation)
(C) w3 agnlsel (Minimisation)

(D) dum Yeaylsa

(Maximisation)



5.  Which of the following is not 5 LAl suell udla wilorit Al

included in 7Ps’ of services afl” i a1l adi?

marketing ?

(A) aHw
{A) Process
B) 2wl
(B) People (B)
(C) Pricing (C) [(Bud Ruiw
(D) Public Relations (D) #-dus
6. An efficient supervisor should g  .fay ANRAUSHL ... el AL
be :
(A) ydadl
(A) Biased
(B) wawdl
(B) Partial

(C) Impartial (C) Rrwawdl

(D) None of the above (D) GuHidl vs un e

7. The regression model Y = A + BX 7. Fluc 2iele Hisd ¥ = A + BX + e

+e: Al 5y 687?

(A) a probabilistic model (A) deiaricis Hida
(B) a non-linear model (B) Brrtylu Hida
(C) an exact relationship (C) wad Hidd

(D) a deterministic model D) Radaadd
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10.

Which of the following relationship

strategies result into forming of a

new organisation ?
(A) Strategic alliance
(B) Partnership

(C) dJoint venture
(D) All of the above

According to Maslow’s hierarchy of

needs theory, ..................... needs are
predominantly satisfied externally
while .................. needs are satisfied
internally.

(A} Physiological, safety
(B) Safety, self-actualization

(C)} Self-actualization, physiolo-

gical
(D) Social, safety

Which of the following is not related

to business ethics ?

(A) Social responsibility of business
{B) Environmental ethics

(C) Ecological consciousness

(D} Profiteering

Management-1I
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11. A leader may use one of the  11. +{lA-Hiall 58 wal 315 uald/Iot-l Guala

foliowing methods for the Addl d-l idaiflaidal sar w2 s30
betterment of followers : s

(A) Criticism (A) st

" (B) Encourage growth (B) {asid e GRulsd s2a)

(C) Give threats (C) audlatl udl

(D) Give promises (D) aa-difoidlil 2udl

12. Which of the following is the best 12 efxs16 Aeelnl wadm Teidls
duldla szal we 3 saldq

technique to manage the existing .
| uglainidl 6 ugla 2w 87

products in light of competition ?
(A) i (UAa) Alsg
(A) Ansoff matrix
(B) [stymaldl suwsll (Competency
(B) Cempetency mapping

mapping)
(C) BCG matrix (€ ollw () Ada
(D} Product life eycle analysis (D) %2a Uelal 4s Yaasy

13. As per AS-2 inventory is to be  13. AS-2 3w+ ezl owdl 5§ A

valued at .ol , w37

(A) Actual cost
(A) drdRs wid

(B) Sales value

(B) du® Heu
(C) Net realisable value

(D) The lower cost, or net realisable (C) atsvll e e

value (D) [ wd wigal disell wi yea
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14.

15.

16.

... is the price of one
currency quoted in terms of another

currency.

(A) Forex ;narket

(B) Foreign market rate
(C) Foreign Exchange rate
(D) Currency market

Who is considered to be the father

of scientific socialism ?
(A) Keynes

(B) Marshall

(C) Marx

(D) Adam Smith

Price discrimination policy helps in

increasing profitincaseof ...............
(A) Perfect competition

(B) Monopolistic compétition

(C) Monopoly

(D) Oligopoly

Management-11
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17.

18.

19.

Subordinates may feel dissatisfied

with their appraisal interview :

(A) Feel threatened during the

interview

(B) Have not found an opportunity
to express their ideas

(C) Have an opportunity to
influence the course of the

interview
(D) None of the above

What is the key
understanding

term in
organisation
structure ?

(A) Control
(B) Change
(C) Process
(D) Delegation

The purpose of any human resource

information system is to :

(A) Replace the senior level
employee with junior level
employee

(B) Assist managers in decision
making

(C) Reduce the degree of
uncertainty in managerial

decision making

(D) Promote individuals to collect

information

Management—I11
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20. The democratic leadership style goes  20.

with :

(A) Theory of A.H, Maslow
(B) Theory of Herzberg-
.(C) Theory X |

(D} Theory Z

21. For the purpose of calculating ROI,  21.

capital employed means ..................

(A) Net fixed assets

(B) Net current assets

(C) Current assets — Current
liabilities

(D) Fixed assets + Current assets
— Current liabilities

22. Price earning ratio

Market Price per equity share
= divided by .......

(A) Earning per share
(B) Current Assets
(C) Current liabilities

(D) Liquid assets

Management-11 10
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23. The concept that customers will
favour those products which offer
maximum quality, performance and
features and asks for continuous

improvements is :

(A) The product concept
(B) The production concept
(C) The selling concept
(D) The marketing concept

24. The concept of marketing myopia is

propoundgd by :

{A) Philip Kotler

(B) CXK. Prahlad
(C) Peter Drucker
(D) Theodore Levitt

25. Reduction of labour force is called :

(A) Termination of job

(B) Retrenchment

(C) Lay-off

(D) Right siz.ing

Management-I[
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26. A situation where management is

27.

28.

unable to provide employment :
(A) Lock out
(B) Lay-off
(C) Closure
(D) _Suspension

In decision analysis problem,

* wvariables which are under the

decision maker’s control are called

.......................

(A) Pay offs

(B) Decision Alternatives

(C) Status of nature

(D) Revised probabilities
Chi-square distribution assumes :
(A} Negative values only

(B) Positive values only

(C) Non-negative values

(D) All values

Management—I1
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28.

R RafAMi W ioeul yil

wsaMl HHalddni ¢lu 9.
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29.

30.

31.

From the following list of joint
venture firms, which one is not the

correct pair 7

(A) ICICI-Lombard
(B) Birla-Sunlife

(C) Kotak-Old mutual
(D) ICICI-Tokyo life

The BCG matrix was designed and
developed by which one of the

following consulting firm ?

(A) Boston Consulate Group
(B) British Co{nsumer Group
(C) Boston Consultancy Group
(D) British Consultancy Group

Persons who are able to influence
others and also who possess

managerial authority are termed

(A) Entrepreneurs
{(B) Leaders

(C) Managers

{D) Visionaries

Management-II
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29.

30.

31.

Foel adler dysd A Su-latng, 4

Beg uy -dl?

(A) 20850308028 -dious
(B) ollzel — Aads

(C) sles—ies WHvd

D) 205 Al 205 A2 -2lsu s
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32. Which of the following banks has  32. «lad-idl $5 o olsiqdl il qaid

the responsibilities of developing (Asuiaarrl 24 1ee sral waosdsi
and supporting small business ? 97

(A) NABARD | (A) -oUs

(B) IDBI (B) wuSslofl2s

(C) ICICI (C) 2uslan5dl2usS

(D) SIDBI (D) llsell

33. Kthical values are derived from :  33. AlRs yeal el Aol 2 .

(A) Corporate philosophy (A) sudi-l glaysl
(B) Organisational culture (B) eaieticlo{la 2rga (seur)
(C) Corporate objectives ' (C) $u-ll &gl
(D) The religious books (M) wbls yeasi
34. Value driven companies are : 34, Heals sudlaA

A) Sure to be ful in 1 - s 3
(A) Sure to be successful in long (A) dioh Jud AissH wsoL Wy B

ran

(B) #end 5l - dadl wsad 5128
(B) Sure to be unsuccessful as they

. Assuudl Freen oy &
are not maximising profits

(C) Sure to become charitable (C) dwll AissAud Aviadl e ol
institutions - ' o gt
{D) None of the above M) Gusiedl 51 wa 4l

Management-1I | 14



35.

36.

37.

The human relation theory focuses

on :

(A). Relatives

(B) Informal organisation
(C) Structure

(D) Machine

The Herzberg’s hygiene theory is
related to :

{A) Motivation

(B) Leadership

(C} Communication

(1)) Understanding

Bill of Exchange is shown under the

head of ................... :

(A) Current assets

(B) Fixed assets

(C) Miscellaneous expenditure

(D) Loans and advances

Management—I1
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35.
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37.

(A)

(B)

"l Aoly Y3l Al Y 2N

-
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AL AL ur
2:151[‘315 dodl 4z
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(D) 42 uR
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38.

39.

40.

The dividend discount model was

developed by :

(A) Modigliani Miller
(B) Mpyron Gordon
(C) Irving Fischer
(D) William Sharpe

.................... is the difference between
the sale price and re-purchase price

of foreign currency.

(A) Forex rate

(B) Swap rate

(C) Forward exchange rate
(D) Cross rate

The US dollar denomited foreign

b01_1ds issued in USA are called :
(A) Samurai Bonds

(B) Bulldog Bonds

(C) Yankee Bonds

(D) Bearer Bonds

Management-II
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40.

sldlsws SlsiGre Hisa sidl gll %

SCUML UL ¢

@) ighlard Ll
(B) u3i- Al
(Cy Sl glaz
D) dldlym wd

(At el el dum Bud wid ywigl

Bad a2dAl aslad ......... )

(A) $l3sy 22

(B) €y e

(C) sias A=y 32

D) s 3w
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41. In case of Utility Theory, as income 47 Guxiallat ladli B »uds 48, dl

increases, marginal utility of money

Heldl dlHid Guallat ......... ]

(A) ue 8
(A) Decreases .
(B) Increases B) ad 8
(C) Constant (C) Raz & ®
(D) None of the above @) widll A%y 4l

42. Agency head or plant manager is 4o i3> oydl vl 35 AL Wiz AAHR

most likely associated with : AR Asvda iy o,
 (A) Team leaders (A) %y Jlde;fl

(B) Middle managers (B) &y HA%3

(C) First line managers (C) ued] sl Ha%rU

(D) Top managers (D) G sail-lL AAred

43. One of the most important 43, <di-{l Al sl craf@sasiing s

characteristics of leaderis: £9.
(A) Competence (A) siamayfyeia
(B) Ego

(B) § uefAss1R

(C) Influence (©) Meua

(D) Education D) (e

Management-I1 | 17 [P.T.O.]



44.

45.

46.

47.

Which one of the following methods
of inventory valuation matches
current costs with
revenues ?

current

(A) Simple average
(B) Weighted average
(C) FIFO

(D} LIFO

BCG matrix is

(A) It is 2 x 2 matrix of portfolio

management in marketing

It is market share and
business growth matrix

(B)

(C) It is analysis of identifying
problem child, stars, dogs and

cash cows
(D) All of the above

A random variable is a variable

whose value is determined by the :

{(A) Outcome of a random

experiment
(B) Random population
(C) Random space

. (D) Random subjective probability

Rehabilitation of sick unit is
governed by :

(A) FEMA
(B) BIFR
(C) RBI

(D) NIFT

Management—I1
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44,

45.

46.

47.

el Asurll Yot el e

Hie WM Heuisrl fRaqdmidfl 56 ugla
A A ALY s AE AHsE 53 D7

(A) A4 ¥

(B) oulia ST

(C) $lsl

D) dlst

ol:flw Al (BCG matrix) 3

WAL widsifyail Anadived]
2 x 2 48

d 620 MRl e, o212 Qs A

-

&

(A)
(B)

A UieAH A1des, 22, S0y AR 3
516 wadl Mizd Redvs &

(C)

(D) Gu~ll saix

A1 Re95 Aet 21 AL © 3 g e A AHiel]
siSuat sl 54l iy §

(A) wsless nudlyg wRwes
(B)
(C)

D)

2gle95 ]
Y[98 UL

WglH9s drgadll Aswan

Gl Uy 9.

(A) 5w

(B) oSz
(C) wuoflaus
(D) wipinisd]



48. The three basic approaches to

ethical behaviour, namely
utilitarian approach, individual
rights approach and justice

approach are given by :
(A) M. Coker
(B) S. Berkeley
(C) G.F. Cavangh
(D) J. Warner
49. Training is required for :
(A) Unskilled worker
(B) Skilled worker
(C) Manager
(D) All of the above

50. GE matrix is :

(A) A technique of portfolio
management in marketing

management

(B) It is 3 x 3 matrix of portfolio

management in marketing

(C) It is business strength and
market attractiveness analysis
of strategic business units

{(SBU’s)

(D) All of the above

Managemént—l]

48.

49.

80.
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